o3 I"oA M 1 & AABC 2] HAlolth ID = 3em € o, x +y 9]

Lol

@ 4cm @ 5em (@)GCm @ Tcm ® 8cm

Aol Al Hof ]2 AR FoER x =y =




2. o oA A I+ AABC Q] UAloltt. /BIC = 130°¥ o, /A 9]
3717

A

130°

@s0°  @7°  @6°  @5n° O

B

H17F AABC O WA Y o, /BIC =90° + %onh:}.
A I7FA WS o] 52419 nide|Bg

/BIC = 130° = 90° + %AA

S /A =80°




3.

AABC ol HT1E WAL W, 1x+ 2] 3 A
719

z 727

ve)

® 190° @ 191° ©®192° @ 194° (B)198°

Q

B

AABCOJ|A] ZIAB = /IAC = q,

/ABI = /CBI = bz} 5tA},

2/a+2/b+72° =180°

Sola+ Lb=54°

(x4 Ly = (La+T2°) 4 (Lb+72°) = za+ £b+ 144° = 198°




4. o2 YoM M 1= H4ZE ABC 2 WAloltt. AB//ID, AC//IE
0|11 AB = 11lem € ©j, AIDE ¢] Eg2] do]x?

@ ECrn @ Ecm ©)

@ 12cm ® 13cm

B ~
/ABI = /IBD ©]1 /ABI = /BID(- AB//ID) ©°]E.& /IBD =
(BID °]t}. = BD = ID

22 Yy o=2 /ACT = /ACE ©]1 ¢ACI = (CIE (- AC//IE)
o]|B& /ICE = (CIE °]t}.= IE = EC °]t}.

w2tA] (AIDE o] 9] Zo]) =ID+DE+IE =BD + DE +
EC =BC = 11(cm) o]t}




o




thS oA AABC £ /C = 90° ¢l & zZHAtzhgdoloh,

AB

20cm, BC = 16cm, CA = 12cm ©]2 A 1 7} AABC 2] YA Y

AIAB 9] Hol& F-5tofzth

@ 30cm? @ 35cm? 3)40cm?

@ 45cm? ® 50cm?

o,

~&B

AABC 9] W3 ¢9] gtz 590 4olE rem 2} 514
AABC = % XX (20 + 16 + 12) = 24r
o] o}, AABC = % X 16 x 12 = 96(cm?2) o] 2=

24r =96 .. r = 4(cm)

—_

o ATAB = = x 20 x 4 = 40(cm?)

[\V]




7. T 2%olA 9 0& aABC] W Yolx, GH, 1, LK& € 0°]
et ofuf, Mg & AAGH + aBIJ + ACKL 9] Ee9] Aol&
5hH?

@ 35cm @360m ® 37cm @ 38cm ® 39cm

B ~

BD = x,AE = y,CF = z2t2 3}H x+y = 10, y + z = 12,
7+ x = 1404

x+y=z=18

AE =18-14 = 4, AAGH 9] E&9] Zo]= 2 x AE = 8°]|t}.

BD =18 -12 =6, aBIJ 2] E¢] Zo]E= 2x BD = 12°]t}.

CF =18 -10 = 8, ACKL 2] E¢|¢] o]+ 2x CF = 16°]t}.
.. AAGH + ABIJ + ACKL = 8 + 12 + 16 = 36( cm)




